12,
16" = 64"
y=1

23.
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Yukarndaki sekilde taral bélgenin alan aga-
qidakilerden hangisidir?

Which of the following is the area of the shaded
region?

A) [(1+cos x) dx—2x
L]

'l

B) 27 —[(l+cosx)dx

o]
C) 2w —T{l +cos x) dx
0

D} J(l+cos x)dx

— bk ey b

E) J(1+cosx)dx

=

21.
f(x)=cos’(5x%)
f(x)=?

A) =20xsin(10x") B) —10xsin(10x%)
C) —xsin(5x%) D) 10xsin(10x)

E) 20xsin(10x")

38.

4 CD i OB

l4c|=loC]

c A m(BDO)="1
o B

Yukarida O merkezli bir geyrek daire verilmistir.

The quarter of a circle with center O is given above.

th

Al5 B30 C 45 D60 g7

39. A |4B|=|AC]|
[BH]L[AC]

O\H |HC|=2em

|BH|=8 em
|[4H|=x="

B C

A B0 Cl12 D13 BI15

43,
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A, ?
Py

Verilen sekil matrisinde “?” yerine hangi
seklin getirilmesi gerektigini bulunuz.

Find the figure which the question mark stands
for in the given figure matrix.

® &
&



Palaven
Damga

Palaven
Damga

Palaven
Damga

Palaven
Damga

Palaven
Damga

Palaven
Damga

Palaven
Damga

Palaven
Damga

user
Damga


Yukarida verilen sekil ok y&ninde 270
ddndiriiliirse asagidaki gekillerden hangisi
olusur?

Which of the following figures is occure, if the
figure given above is rotated 2707 in direction of
the arrow?

62,

Yukandaki terazilerin iligi de dengede
olduguna godre Ill. terazide “?" yerine
agagidakilerden hangisi gelmelidir?

All three scales above are in  balance.

Accordingly, which of the following does the
question mark stand for in the third scale?

yO B AOA () O0A p)AAA E) AAOC

68.

— % -
%
%
A) B) C)
%
Z
D) E)
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